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C

The boat is attached to C

by arod 6 metres long. Sm

The rod swings from position CA
to position CB. A B

The length of the arc AB is 7 metres.

Find the angle through which the
rod swings from position A to position B.




1.
A lampshade is made using the major sector of a circle of radius 18 cm as shown.
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(a)
Calculate the total area of material used for the lampshade.


(b)
What length of fringing is needed for the lower edge of the lampshade?

2.
Calculate the size of each angle marked a, b and c.

(a)

(b)

(c)
3.
In the diagram PB is a tangent to the circle.







(a)
Name two right angles in the diagram.


(b)
Calculate the size of BAC.
4. 
5. 
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Intermediate 2	Homework
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